

OFFICE OF THE CONTROLLER OF EXAMINATIONS ST. JOSEPH'S COLLEGE (AUTONOMOUS) DEVAGIRI, CALICUT-08 (College with Potential for Excellence and Reaccredited by NAAC with A++ Grade)

No.34/SJC/AUS/CE/UG-1 SEM/2021-22

Dated: 18-01-2022

NOTIFICATION

It is notified for the information of all concerned that the 1st Semester UG Regular/Improvement/Supplementary Examinations November 2021 (2017, 2018, 2019, 2020 & 2021 Admissions) of BA/B.Sc./B.Com/BBA/BCA Programmes will be conducted by the College as per the schedule given below.

All candidates should submit the application online through the login provision available in the college website (www.devagiricollege.org) using their own login ID and password. Payment of exam fee is to be made online only.

Regular Exam applicants who are eligible for fee concession are directed to pay the online Registration charge only (Rs.30/-).

Commencement of registration of application	: 18-01-2022
---	--------------

Last date for the receipt of applications without fine : 28-01-2022

Last date for the receipt of applications with fine Rs 170/- : 02-02-2022

Last date for receipt of list of applications with superfine of Rs.1275 : 05-02-2022

Date of issue of hall ticket : 14-02-2022

Date of commencement of Examinations : 17-02-2022



CONTROLLER OF EXAMINATIONS

Dr. GEORGE MATHEW
Controller of Examinations
St. Joseph's Cullege (Autonomous)
Devagiri, Koznikode-673008, Kerala

Details of fees to be remitted: (As per University order No.349/2019/PB)

a) Application Fee : Rs.35/-

b) Examination Fee (Theory) BA/B.Sc./B.Com - Regular : Rs.40/- per paper

Supplementary : Rs.60/- per paper Improvement : Rs.85/- per paper

BCA/B.Sc. (CS) - Regular : Rs.60/- per paper

Supplementary & Improvement : Rs.115/- per paper

BBA/B.Com Professional-Regular : Rs.115/- per paper

Supplementary & Improvement : Rs.145/- per paper

c) Mark List Fee : Rs.40/-

d) Valuation Camp Fee - Regular : Rs.170/-

Supplementary & Improvement : Rs.40/- per paper

(Subject to a maximum of Rs. 170/-)

e) Online Registration Charge : Rs.30/-

<u>Copy to</u> 1. Principal

2. Examination Section3. Office Superintendant

4. Fee Section5. To all UG Departments6. Information center

7. Notice Board

8. Office File 9. Website

CONTROLLER OF EXAMINATIONS

Dr. GEORGE MATHEW Controller of Examinations St. Joseph's College (Autonomous) Devagiri, Kozhikode-673008, Kerala



1st SEM UG (2021 ADMISSION)

- ECONOMICS

Theory Paper (6+1 Audit Course)	: 7×40= ₹280	
Mark list fee	: ₹40	
C V Camp fee	: ₹170	₹555
Online Registration	: ₹30	
Application Fee	:₹35	

➤ ENGLISH (AIDED)

Theory Paper (6+1 Audit Course)	: 7×40= ₹280	
Mark list fee	:₹40	
C V Camp fee	:₹170	₹555
Online Registration	:₹30	
Application Fee	:₹35	

► MATHEMATICS

Theory Paper (6+1 Audit Course)	: 7×40= ₹280	
Mark list fee	:₹40	
C V Camp fee	:₹170	> ₹555
Online Registration	:₹30	
Application Fee	:₹35	

PHYSICS

Theory Paper (6+1 Audit Course) Mark list fee	: 7×40= ₹280 : ₹40
C V Camp fee	:₹170 ₹555
Online Registration	:₹30
Application Fee	:₹35

> CHEMISTRY

Theory Paper (6+1 Audit Course)	: 7×40=₹240	
Mark list fee	:₹40	
C V Camp fee	:₹170	3CCC
Online Registration	:₹30	₹555
Application Fee	:₹35	

> BOTANY

Theory Paper (6+1 Audit Course) Mark list fee	: 7×40=₹280
C V Camp fee	:₹40 :₹170
Online Registration Application Fee	:₹30 :₹35

ZOOLOGY

Theory Paper (6+1 Audit Course)	: 7×40=₹280	
Mark list fee	: ₹40	~~~~
C V Camp fee	:₹170	₹555
Online Registration	:₹30	
Application Fee	:₹35	

> B.Com FINANCE (AIDED)

Theory Paper (5+1 Audit Course)	: 6×40=₹240		
Mark list fee	:₹40		2515
C V Camp fee	:₹170		₹515
Online Registration	:₹30		
Application Fee	:₹35	<u> </u>	

B.Sc. Psychology

Theory Paper (6+1 Audit Course)	: 7×40=₹280 —	7. 12.
Mark list fee	: ₹40	
C V Camp fee	: ₹170	₹555
Online Registration	:₹30	
Application Fee	:₹35 —	

➤ B.Sc. ECONOMICS AND MATHEMATICS (DOUBLE MAIN)

Theory Paper (5+1 Audit Course)	: 6×40=₹240		
Mark list fee	:₹40		
C V Camp fee	:₹170	\geq	₹515
Online Registration	:₹30		
Application Fee	:₹35		

> BBA

Theory Paper (5+1 Audit Course) Mark list fee C V Camp fee Online Registration	: 6×115=₹690 [¬] : ₹40 : ₹170 : ₹30	₹965
Application Fee	:₹35	

➢ B.Com Computer Application

Theory Paper (5+1 Audit Course)	:6×40=₹240		
Mark list fee	:₹40	1	
C V Camp fee	: ₹170		₹515
Online Registration	:₹30	•	
Application Fee	:₹35		

B.A. FUNCTIONAL ENGLISH

Theory Paper (6+1 Audit Course) Mark list fee	: 7×40= ₹280 : ₹40 : ₹170	₹555
C V Camp fee Online Registration Application Fee	:₹30 :₹35	

> BCA

Theory Paper (6+1 Audit Course)	: 7×60= ₹420	
Mark list fee	: ₹40	
C V Camp fee	:₹170	₹695
Online Registration	:₹30	
Application Fee	:₹35	

➤ B.Sc. COMPUTER SCIENCE

Theory Paper (6+1 Audit Course)	: 7×60= ₹420	
Mark list fee	:₹40	
C V Camp fee	:₹170	_ ₹695
Online Registration	:₹30	
Application Fee	:₹35	
<u> - 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. </u>	기존의 물이 없는 그리고 하는 사람은 그 사람들이 하다.	

> B.A. MASS COMMUNICATION

Theory Paper (6+1 Audit Course)	: 7×40= ₹280		
Mark list fee	:₹40		
C V Camp fee	:₹170	\succ	₹555
Online Registration	:₹30	M de la companya della companya della companya de la companya della companya dell	
Application Fee	:₹35	J	

> B.Com PROFESSIONAL

Theory Paper	: 5×115=₹575
Mark list fee	:₹40
C V Camp fee	:₹170 > ₹850
Online Registration	:₹30
Application Fee	:₹35

> B.Com FINANCE (SELF FINANCING)

Theory Paper (5+1 Audit Course)	: 6×40=₹240	
Mark list fee	: ₹40	
C V Camp fee	: ₹170	₹515
Online Registration	:₹30	
Application Fee	:₹35	
		20 (CO)

B.A. ENGLISH (SELF FINANCING)

Theory Paper (5+1 Audit Course)	: 7×40= ₹280	
Mark list fee	: ₹40	
C V Camp fee	: ₹170	₹555
Online Registration	: ₹30	
Application Fee	:₹35	

BBA HONOURS

Theory Paper (5+1 Audit Course)	: 6×115=₹690	
Mark list fee	:₹40	
C V Camp fee	:₹170	- ₹965
Online Registration	:₹30	
Application Fee	:₹35	



/ dr

CONTROLLER OF EXAMINATIONS

Dr. GEORGE MATHEW
Controller of Examinations
St. Joseph's College (Autonomous)
Devagiri, Kozhikode-673008, Kerala